- At least 18 people were at the party.
- The crowd was made up of no lessthan 80
people.

- The Super Bowl is viewed by more than one @%

a1

billion viewersevery year.
Hint:

> Greater Than < Less Than
> Greater Than or Equal to < Less Than or Equal to




.Solvm g Inequalities by

Adding or Subtracting

Write the inequality for each situation.

1. There are at least 28 days in a month.

days in a month = 28

2. The temperature is above 72°.
temperature > 72°

3. At most 9 passengers can ride in the van.
passengers < 9
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.Solvm g Inequalities by

Adding or Subtracting

Essential Question Standard

How do you solve MCCY7.EE.4: Use variables
Inequalities that involve to represent quantities in
one operation? a real-world or

mathematical problem,
and construct simple
equations and
iInequalities to solve
problems by reasoning
about the quantities.
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How to video

-old along bold black line.
Cut along the (dotted lines.

-

INEQUALITIES
Less Than Greater Than Less Than or Greater Than or Equa
< > Equal To >
<

Represented on the
number line with an open
circle. o

Represented on the
number line with an open
circle. o

Represented on the
number line with a closed
circle. e

Represented on the
number line with a clo
circle. e



http://youtu.be/7pB2YFzMRHo

XxX<3 X>3 X< 3 Xxz3
%
X+2<6 Xx—-5>1 2x+1 = 11 Ix+4+3=219




. Solving

Inequalities by
Addmg or Subtracting

Addition and Subtraction Properties of Inequality

You can add or subtract the same number on both sides of an inequality,

and the inequality will still be true.

3<5
3+2<5+2
5<7

6> 2
6—-—1>2-1
5> 1

4=<7
4+3=<7+3
7=10

0=-3
0-4=-3-14
4= -7
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 1A: Using the Addition Property
of Inequality

Solve. Then graph the solution set on a number

line.
n-7=<15
n-7< 15
+7 +7 Add 7 to both sides.
n < 22

Draw a closed circle at 22 then
shade the line to the left of 22.

| T
-88 -66 -44 -22 0 22 44 66
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 1B: Using the Addition Property
of Inequality

Solve. Then graph the solution set on a number

line.
a-10= -3
a-10= -3
+ 10 +10 Add 10 to both sides.
a > 7/ Draw a closed circle at 7.

Then shade the line to the right.
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.Solvm g Inequalities by

Adding or Subtracting

Check It Out: Example 1A

Solve. Then graph the solution set on a
number line.

d-12 < -18
d-12 < -18
+ 12 + 12 Add 12 to both sides.
d < -6
Draw a closed circle at -6 then
shade the line to the left of —6.
Yt
-8 -6 -4 =2 0 2 4 6
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.Solvm g Inequalities by

Adding or Subtracting
Check It Out: Example 1B

Solve. Then graph the solution set on a
number line.

b-14 = -8
b-14 > -8
+ 14 +14 Add 14 to both sides.
b > 6 Draw a closed circle at 6.

Then shade the line to the right.
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.Solvm g Inequalities by

Adding or Subtracting

Additional Example 2A: Using the Subtraction
Property of Inequality

Solve. Check each answer.

d+ 11> 6
d+ 11> 6
-11  -11 Subtract 11 from both sides.
d > -5
Check
d+ 11 > 6

0+112 6 O is greater than -5.
Substitute 0 for d.

@ HOLT McDOUGAL, All Rights Reserve



ACTICE

lve each inequality, and graph the solution set.

x+8>4 2. t-15<30

> Attt
= wll =3 =2 = 0 1 | 3 4 5 =50 =40 -30 -20 -10 0 10 20 30 A4(

k+§:>% 4. r-02<06

- | | I —t—t—t—+—+—1 D e B e s | | | 3

5 =t 3 1 1 0 T 1 3 1 5 -1 08 -06-04-0.2 0 0.2 04 0.6 0.
4 4 "2 13 4 2 4 4

ve each inequality, and explain what the solution set means in the
1text of the situation.

At most, 47 passengers can sit on a bus. There are already 29 passengers seated on the b
The inequality p + 29 < 47 represents this situation, where p is the number of additione



.Solving Inequalities by

Adding or Subtracting

Homework: Workbook Pg. 147 #1-6
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